
 

Puzzles

There are threedoors Behind one is a
duck a chicken

behind a second are two ducks
behind thethird are

two chickens The doors are closed and on eachdoor

there is a sign desciby
whichanimals are behind

it

But all the signs are wrong

If you open
a doordwait one

animal will comeout Butyou

can't see who else is
in the room How many

animals do

you
need to release to findout

who was in which room
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Binary bae 2 Octal base

Hexidecimal base 16

Colors is HTML CSS RGB

Fff white
7 A

000 black
220 B

Foo red

F 007 Blue

F 57 Pumplan
10 Do 16

2030 2 16 3 35

a a bit

byte hits s dy it buy
256

1



So fo i conepts is language of countynumbers
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Conceptualneed
me intrude language

moleslaxions

to allow reasony
d communiation

which is infernally consistent

sufficent fit theneed

efferent
consistent
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